11/22 A7—T AFHEGRAED—H 39T ]
ERXTiE
2A—hoT-I—2
[Z2OM -6 |FEEHIZ

(1. BBEENE>TLDEDAA—UF,

STDEETIHBHATES,

2. B DERKRICET L5 L<FEKZEMNT |
%é

3. BREIFERGAHEFDEDAA—TIZD

NT LK ODDETRICHEBRTLHIEMNT

=B




11/22 A7—T AFHEGRAED—H 39T ]
ERXTiE
IH—NIY T4
[ZOMN =5 IDETT
S EEDEOTVNRBDAA—TF,

. B%
BIRMEEEIZT D,

L BDAA—TF A N—[ETHLEHST.
—ERTERT D,

 MMBBDEDAA—DDIEIDDG., E
RICRPELZOIRZRDITT. B
Y. sZLE-=YT 5,

ST




11/22 A7—T ARBIBERAET—HI3v7T |

[ BN -b]—ERXRITA—< Yk

2012/11/22 IA—ho T - D=9 Z2DHhI=5] 3



11/22 BT —T AREIBERAED—U3vT ]

[ 2N =6 F—LFEED

1. Z2OAA—2:0O0NETIE, ZIZEALT. 25
LSRR AECSWLSREA ENHOT=,

2. BEONE BDAA—UIZIZ. OO0OXRA7 .
OOX147, 0094775\%07‘,0

3. EREEIR. BRDEDAA—TZFFEIET
BHZEIZEHT. OO&L\’B?)J%#%M’)*LT:O

4, XRNER =D DEBEDAA—DFRRT H
EZEDT. OO0ELVYIEN DO NT=, /

2012/11/22 IA—ho T - D=9 Z2DHhI=5] 4



xv—amaaow

1 AV ERRIZEEDEEY SN
DEEMN

2. BEDERIZK[OKI=HDEE
=

3. RRZFEH G, HHRI 5L

 EAHE ,




11/22 BT7—T ABEBEGRHAET—II3v7 ]
RKO—ODFEREELTHABCH
—ERZTETT.ERICEAD—

A: Activating event (HH 3 55)

B:Belief(IE=. S SIFEEAERIZELS !
C:Consequence ($58 )

HEENHHT. FBERNHHDTITEL,
ZFDREICEY)—TIC K5 BIRMNTFEE. AAITESC

S DLTULMEL

2012/11/22 IA—NAIITTT—H ZDHhI=5 ]




11/22 RT—T ARIBERAET—H3v7T |

A5 3FI)L-EY)—7D

UT.4FRT47&YSIA

Irrational Belief[X[ IEEEBGIES ILREN S, TKBAL T
(XESENITTRTOAIZESINEGFNIELESELTHD
b ANETHIFNIELZESENGEE LB ERE->TLS
E.ETNOMNFE =SNG =EZFITND Z IG5, 15
3T IL-EV=DIXUT DR IGHELH D,

@ E%LE’JL\’CL\EL\

Q RIBRIWARMEDARLY

@ = 3#5’&’?’*&)( <t5

@ QEEEE’J EE AR THDS
AZ23FIL-EY—TIEXREE(~RIELE54EN, ~TH-oT
MLWNEBETERITHIEMNLEI LTS,

2012/11/22 T2A—No0-—OTZ2Dh-5] 7

.I|In

T




11/22 BT —T AREIBERAED—U3vT ]

RI—JDFEEELTOABCER

ZDEOTERZEREBMIZEEL. ZaFIL-EYU—D(E
BEMERINEZEZATHLOMNHEEREDREITHS (X
BEEMZETMZH1ELHRIFZTSH),

Mok THEHHDH, KEMOESRETHAINANIZE
SNLZBINTGVEIIEBRGLUICEERMIZEZIZNHET HN
=THH. TOFRADRELTINMNIEHY M =L\L, B
NEELEELETHAHILLETH S,

IR E>TLEAILX. T~RIES4E 540 (must) ] TIF AL,
FUTRAMILFETHAEENONS~THAHICTLI=ZEEHELY

5aF L EY—D DB RBLAEVDIESHADDA AL

@oulduauaxcﬁéaﬁm%%mmmo /

2012/11/22 IA—ho T - D=9 Z2DHhI=5]

8



	スライド 1
	スライド 2
	スライド 3
	スライド 4
	スライド 5
	スライド 6
	スライド 7
	スライド 8

